4 N

PUBDET-2018 81200001
Subject: Economics (Booklet Number)
Duration: 90 minutes Full Marks: 100
\ J
4 . 2
Instructions

1. All questions are of objective type having four answer options for each. Only one option is
correct. Correct answer will carry full marks 2. In case of incorrect answer or any
combination of more than one answer, % marks will be deducted.

2. Questions must be answered on OMR sheet by darkening the appropriate bubble marked
A, B, C, orD.

3. Use only Black/Blue ball point pen to mark the answer by complete filling up of the
respective bubbles.

4. Do not make any stray mark on the OMR.

5. Write question booklet number and your roll number carefully in the specified locations of
the OMR. Also fill appropriate bubbles.

6. Write your name (in block letter), name of the examination centre and put your full
signature in appropriate boxes in the OMR.

7. The OMRs will be processed by electronic means. Hence it is liable to become invalid if
there is any mistake in the question booklet number or roll number entered or if there is
any mistake in filling corresponding bubbles. Also it may become invalid if there is any
discrepancy in the name of the candidate, name of the examination centre or signature of
the candidate vis-a-vis what is given in the candidate’s admit card. The OMR may also
become invalid due to folding or putting stray marks on it or any damage to it. The
consequence of such invalidation due to incorrect marking or careless handling by the
candidate will be sole responsibility of candidate.

8. Candidates are not allowed to carry any written or printed material, calculator, pen, docu-
pen, log table, any communication device like mobile phones etc. inside the examination
hall. Any candidate found with such items will be reported against & his/her candidature
will be summarily cancelled.

9. Rough work must be done on the question paper itself. Additional blank pages are given in
the question paper for rough work.

10. Hand over the OMR to the invigilator before leaving the Examination Hall.

11. This paper contains questions in both English and Bengali. Necessary care and precaution
were taken while framing the Bengali version. However, if any discrepancy(ies) is /are
found between the two versions, the information provided in the English version will stand
and will be treated as final
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English

Directions (Questions 1 — 3): Out of the following alternatives, choose the one which best expresses
the meaning of the given word.

1. Triumph
(A) Joy (B) Excitement (C) Gain (D) Victory
2. Minimum
(A) Little (B) Minimal (C) Lowest (D) Meagre
3. Fatigue
(A) Weariness (B) Sweating (C) Tension (D) Drowsiness
Directions (Questions 4 — 6): Fill in the blanks with suitable prepositions given below.
4, The Judge acquitted the prisoner the charge of murder.
(A) of (B) about (C) with (D) from
5. The habit of taking drugs has been growing the urban youth.
(A) within (B) from (C)in (D) upon
6. The horses stampeded and tore the street.
(A) off (B) down (C) out (D) up
Directions (Questions 7 — 10): In each of the following questions choose the word opposite in
meaning to the given word.
7. Reserved
(A) Likeable (B) Popular (C) Talkative (D) Companionable
8. Disdain
(A) Depreciate (B) Contempt (C) Admiration (D) Penitence
9. Obsolete
(A) Conducive (B) Recent (C) Rare (D) Useless
10. | Harmony
(A) Hatred (B) Enmity (C) Friction (D) Discord
Directions (Questions 11 — 13): Choose the most suitable ‘one word’ for the given expressions.
11. | An office or post with no work but high pay

(A) Honorary (B) Ex-officio (C) Gratis (D) Sinecure
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12. | One who is well-versed in any subject; a critical judge of any art, particularly fine arts

(A) Veteran (B) Connoisseur (C) Philistine (D) Dilettante

13. | Person who is indifferent to both pleasure and pain
(A) Stoic (B) Ascetic (C) Saint (D) Hermit

Directions (Questions 14 — 15): Pick out the most effective word from the given alternatives to fill in
the blanks to make the sentence meaningfully complete.

14. | Democracy some values which are fundamental to the realization of the dignity of man.
(A) Nourishes (B) Cherishes (C) Espouses (D) Nurtures
15. | Successful people are genuinely very efficient in their tasks.
(A) Accomplishing (B) Making (C) Achieving (D) Attaining
Mathematics

16. | If the arithmetic and geometric means of two distinct, positive numbers are A and G respectively,
then their harmonic mean is

7 7RF AT IRYF TR TIF A 3R SIS T G 2E IRYEEE [

25fo7 T 7@
A G G’ A’
(A) G (B) A © Y (D) G
17. A\°
(1+—1)_2 equal to
(1-i)
(1-i)
(A) _in+1 (B) _2in+1 (C) in+1 (D) 1

18. | If the product of the roots of the equation x* —2kx +3k> —4 =0 is 5, then the roots may be
characterized as

(A) integral (B) rational but not integral
(C) irrational (D) imaginary

X2 —2kx +3k? — 4 = 0 -9 TR BAFS 5 & AT I

(A) PR (B) T fFg e w3
(C) Sem (D) FFAT
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19.

If "*C, +"'C, > "C, then the least value of n is

M "1, +"IC, > "C, T OR(E n @3 N AW 2@

(A) S (B) 6 ©) 4

(D) 8

20.

51
If the sum of the coefficients in the expansion of (azx2 —2ax + 1) vanishes then ‘a’ is equal to

(a’x* ~2ax +1) @7 ST TRAAWTR TR T A @' &7 AW TR

(A) +2 (B) +1 ©) -1 D) -2

21.

1 sin O 1
The value of |—sin© 1 sin 0| lies in the interval
-1 —sin© 1

1 sin O 1
—sin® 1 sin6| U9 T T O¥E AFE O TF
-1 —sin© 1

(A) [2,3] (B) [3,4] ©) [2,4]

D) 2.4

22.

2 5
If A= [3 J ,then the matrix B for which AB =1, is

ﬂﬁA:@ 3?@ I AB = L,-939 & WIGF B o3

1(-1 2 1(-1 5
&) 5(3 —1} ®) E(s —zj

1(1 5 1(-1 3
e E(a 2J . E[z 4}

23.

Let f:R — R, where R is a set of real numbers defined by f(x) =x’ .Then f of(x) is

@A FR>R | f(x)=x" @88 R 251 TV FRYF T O fof(x) T

(A) x* (B) x* ©) x D) 1
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24. | The equation of the locus of the point of intersection of the straight lines
xsin@+(1—cosB)y =asin® and xsin®—(1+cosO)y+asind=01is

R xsinB+(1-cosO)y =asin® @I xsin®—(1+cosB)y+asin =04 C@’Tﬁi\”ﬁ BN

2
(A) ytax=0 (B) x=tay

(C) y* =4x (D) x*+y* =a’

25. | Ifthe lines x +2ay+a =0, x +3by+b=0 and x+4cy+c =0 are concurrent, then a, b, ¢ are in

(A) AP (B) G.P (C) H.P (D) none of these

FM x+2ay+a=0,x+3by+b=0 GI x +4cy +c =0 TENII G TG = O a, b, ¢
PP

(A) ST AASCS  (B) @ed Zsifors

(€) Rrisrs 2eifete (D) avR T2 -

26. _
If f(5)=7, and f'(5)=7then limM

is given by
X—5 X -5

W £(5)=7@R f'(5)=72F, OE@ tim L) =5 %) gz 7 2

Xx—5 x—-5

(A) 35 (B) -35 (C) 28 (D) -28
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27. 2 1
X+ x3 +x°

The value of I—l dx
x(1+x3]
3 2 1 3 2
(A) §x3 +6tan' X6 +¢ (B) §x3 +c
2 3 2 3 1
(©) EXZ +c (D) EXZ +6tan"' x¢ +¢

(where c is an integration constant)

2 1

3 6
J‘XJ“X—’LIX dx @ 9 o
X(1+X3j
3 2 1 3 2
(A) §x3 +6tan' X6 +¢ (B) §x3 +c
2 3 2 3 1
(©) EXZ +c (D) EXZ +6tan"' x¢ +¢
(c 4> TP L)
28. . . . . . dy .
The integrating factor of the differential equation xlogx—+y=2logx is given by
X
E@IFE AN xlogxg—y+yzzlogx¢m T @dF TR
X
(A) e (B) logx (C)log(logx) (D) x
29. | If a differentiable function f(x) has a minimum at x =0, then ¢(x)=f(x)+ax+b has a minimum at

x =0 for

(A) allaandb (B) allbanda=0

(C) allb>0 (D) alla>0
M ST TN f(x) NEFFH x = 0 A ACF, O A x =0T ¢(x)=f(x)+ax +b
SN 2RI

(A) a ¥ b -EF IPeT WS &) (B) AFT b R a=0 -4 GJ

(C) T b> 0 -GF G (D) S a> 0 -97 &
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30. | Equation of the line through the intersection of the lines 2x +3y+4=0 and 3x+4y—-5=0 and
perpendicular to the line 7x -5y +8 =0 is
2x +3y +4 =03 3x +4y-5=0 AR (@71 RV G2 7x — 5y +8 = 0 TR
P ST AN TN 2
(A) 7x+5y+1=0 (B) 7x-5y—-1=0
(C) 5x-7y+1=0 (D) 7y+5x—-1=0
31. | Let P, be an n-sided regular polygon in a plane. Let T, be the number of all possible triangles
formed by joining the vertices of P . If T ., —T =10 then
A 9 G O P, G n YT AR T TRgE | IQGE(BA (AT
frvonges @ ofFs fTgre i =& T, ;W T, T, =10 =, @
(A)yn=5 (B)yn=10 ©)n=7 (D)n=8
32. X+y—-2z=0

Consider the system of equations 3x +2y —5z =0 ;. Then the system of equations has
7x—-3y—-4z=0

(A) only zero solution
(B) finitely many non-zero real solutions
(C) infinitely many non-zero real solutions

(D) real solutions of the form (a,b, C) where a+b>c

X+y—-2z=0
3x+2y—5z=0} AT Al
7x—-3y—-4z=0

(A) SYT@ X S SNZ

(B) SN TRAT S I A SR

(C) SN FRYF W-*ef ARI KA SR

(D) a+b>c =TSR AWI TG (a, b, c) SR

QP-PUBDET-2018-Economics FINAL.dOCX Page: 8/14




33. xz-(a+2)x+a
. , for x # 2 . _
If the function f (x ): x-2 be continuous at x = 2, then

=2, for x=2

xz—(a+2)x+a

M S £ (x )= o orx#2 o) e e =, O
=2, for x=2
(A)a=0 (B)a=1 (C)a=-1 (D)a=2
34. L 1
lim equals
x~>04x_3x

lim>_—2 g W 2@

x—>04,x_3x
3 3 3 2
A)=— B) log, | = C)log | = D)=
()4 (B) g:(2j © ge(zJ ()3
35. 4 42 dy
Iy =™ then (1+x2) o2 +(2x 1) =
y en( x) 2 ( X )dx
. d’y dy
WM y=e"* =7, O@ (1+x°)—2+(2x-1)-2L =
Y = ( X )dxz ( X )dx
1
(A)O B)y © > (D)1
1+x
36. « Mreosox
The value of J. mdx is,
0 2
j:‘/—lﬂgszxdx 99 WA =5,
(A)O (B)2 1 (D) 4
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37. d(x i +1
The solution of (d ) 4y = JAXTOEX x’y+f(x)=xlogx+c, where f(x) is equal to
X X
(A) Xx—cosx (B) x+cosx (C) —x+cosx (D) —x —cosx
(c is arbitrary real constant)
d(xy) sinx +logx 2
PR o -6 A x’y+f(x)=xlogx+c = f(x) =@
X X
(A) x—cosx (B) X+cosx (C) —=x+cosx (D) —x —cosx
(c 93> TR II L&)
38. 2
Let I=J.|1—x| dx ,Then
0
2
A 4 I=I|1—x| dx , CICQ
0
- — =1 =3
(A) I=0 (B) I=1 ©1=Y D) 1=
39. 2x+7, 0<x<l1
Let f(x)z , then,
3x+6, x>1

(A) fis continuous at x =1

(B) limf (x) does not exist

(C) limf (x) exists

(D) x =1 is a point of infinite discontinuity
2x+7, 0<x<l

A 4 f(x)z , QICFCa
3x+6, x>1

(A) x=1 S £ TS

(B) limf(x) -45 =fEg 12

(C) limf(x) -9 Y =2

(D) x = | RYCS SAHET S SPES TR
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40. |Let log,,18=a. Then log,, 16 is equal to
A P9 log,18=a | O(F log,, 16 (I

4a -1
(B) 3T © T

41. -
The domain of the real valued function f(x)=,/log,, 37X 4
X

T T RFE ST £(x) =, |log,, >~ 7 FRGH A T
X

(A) (0,%} (B) [O,%J (©) [0,%) (D) (o,%)

For y =sin(2sin"' x) if (1— Xx——=ky thenk =
y =sin(2sin” x)if (1-x )d s x o =ky
. . d’y dy
=sin(2sin”' x) @R (1-x* )—2 —x—2 =ky (& k=
y ( ) AR ( )dx dx
(A) 4 (B) -4 ©) 2 (D) -2

43. | A missile is fired from the ground level rises x meters vertically upwards in t sec, where
25¢

. The maximum height reached by the missile is

GFfB TFAE TSR (AT TNl WA T T 7Rt PIRCS x BB THOR o,
A _100t—2i| TFEG AE® Tl 3

(A) 250 metres (B) 300 metres (C) 270 metres (D) 200 metres
44, 122 f(x)
The value of j dx is

f(x)+f(12a x)

f I Bp—
)T+ f(12a-x)

(A) a (B) 2a (C) 3a (D) 6a
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45.

If Ie _ldx=f(x)+k , then f (x) equals to
e" +1

T[S lax=f(x)+k T, O () 7R
e’ +
(A) 2log(e*+1) (B) log(ez" - 1) (C) 2log(e*+1) —x (D)e*
46. | The sum of n terms of the series
1 1 .
14— — «iiitt 18
1+2 14243
UL SN - - P T e
1+2 14243
n n+l 2n n+l
(A) — (B) — <€ — (D) —
n+l n n+l1 2n
47. | Roots of the equation 6(log, 2—log, x)+7=0 are
6(log, 2 —log, x)+7 = 0 AN Jerafer za
(A) 2,8 (B) -2,4 (©) 8,27 (D) 2,4
48. | Ifin an A.P the p" term is q and q" term is p, then ( p + q )™ term is
B TS (A p-F WM q G- - 7 p ZEA EAG (p + q )-O 27 A =
(A) 0 (B) pq © p+q D) -(p+q
49. | The median of a set of 9 distinct observations (arranged in ascending order) is 20.5. If each of the

largest 4 observations of the set is increased by 2, then the median of the new set :
(A) is increased by 2. (B) is decreased by 2.

(C) is two times the original median. (D) remains the same as that of the original set.

95 for for /iR (TR [a®) 3 Cba T0F 26 20.51
@ B A 4 - fweem 2o 2 @k AR e T oiba T

(A) 2 7R IS =3 (B) 23P I
(C) R NP fAQel BI (D) TUFE (TN AR 2 Al
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50.

Roots of the equation log, [xz -2x+ 65] =2 are

log,_, [ x? —2x +65 | = 2T Reela Jerafer =

(A) -5 (B) 2 (©) 3

(D) -2
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S @3 ARHEE R 2R3 SRS oY W2 i A v S Ten medl
Wi I GFH T@ FoT T Tew e 2 9 A g Tew e weAl
«FifeF Tea e 1, 791 F6! AE|

OMR (@ A.B.C.D ofzw® 7% =l ©ait I Tex e =@
OMR (@ Tex e Byi@ Fic A Tel <& 26 iH IRYT Fa|
OMR 7@ RWE B Qo W= A8 &FF W T |

OMR 7@ W8 B 2M~ad 791 e [ Nes @e 999 S Ao A
foT4® =@ g AEEE @l SEd Fo A

V. OMR °itg "8 e fees A @ A1 ews A e =9 g3 s e
A es =@l

UL OMR TEAl FEREWE AT A A8l A HOAR 2P 9 A &I
TH9 gl oI SR e W9 ORI e TSt Wi el Aot 7o
M| GRIG] AKFIR TN, AR YT T A AT P g ATe TR A
ST 2@ @S A OMR TEHAEAD Sfer 20T A OIS SHHIF Aol A8
A 2@ S A ATFA 97 4 g A ST Ty Ted e
E GG ATFR R O G wiE A

b IRIZER, FETEEDE, ARTH, Ao, @b, &P A @F 4=eR S
A FCE S A AN WA G WG A G ATFRE 62 A
Jifost 41 A

5 MNET IE AT I FAT G FIF TN ST @I W T FIE A3
FIer IR FAE AN

yo. HAFl FF QO W OMR 719 S*) 3 v M@ aiE

5. @3 2T FeAG! 8 ARE TN SRS AN ST BRI ARG TG AN (O
T AT AT 8 FOFS| AT I LRI O MGE TN (T TP
w9 AR, CICRE RG] Mgew medl 7 0% ¢ pus e [Rebe =@

R o 6 W
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